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= = S AV 7 S HVE | = = S AV = S AV B2l =
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/M%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{ 0.00 ~ 6.56 82.69| #h st [ 0.00 ~ 0.00( 1.66 8.91 Zhn st 1.00] 500 ~ 8.00 82.69| #hiist | 500 ~ 8.00| 1.66 8.91
3 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Fh st 1.00/ 000 ~ 453 56.47| #hils | 000 ~ 0.00| 157 8.39 ZFh st 1.00|] 500 ~ 500 56.47| #hilst | 500 ~ 500| 157 8.39
4 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.0010.00 ~ 544 67.87| #hli4 | 000 ~ 0.00| 1.61 8.62 Zhn st 1.00] 500 ~ 6.20 67.87| #hist | 500 ~ 6.20| 1.61 8.62
- 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.0010.00 ~ 6.44 81.13] Zhli4 |0.00 ~ 0.00| 1.61 8.63 Zhn st 1.00 5.00 ~ 8.07 81.13| #hi4t | 500 ~ 8.07| 1.61 8.63
6 100kN/mM%#B % % 1.00/ 000 ~ 2.77 143.70(3m%#8%%(0.00 ~ 0.86| 3.37 18.04| 100kN/mM%#B% % 1.00| 11.32 ~ 46.00 143.70|3m%#8%%| 40.00 ~ 46.00| 3.37 18.04
Fh st 1.00| 2.77 ~ 1055 100.00| Zh k14t | 0.86 ~ 10.55[ 3.00 16.05 Fh st 1.00] 500 ~ 11.32 100.00| Zh st | 5.00 ~ 40.00] 3.00 16.05
; 100kN/mM%#B % % 1.00{0.00 ~ 298 147.39|3m%#8%5| 0.00 ~ 0.95( 3.42 18.30| 100kN/m%#B% % 1.00| 11.05 ~ 46.83 147.39|3m%#B% 5| 40.00 ~ 46.83| 3.42 18.30
ZFh st 1.00/2.98 ~ 10.77 100.00| Zh k14t | 0.95 ~ 10.77[ 3.00 16.05 Fh st 1.00] 500 ~ 1105 100.00| Zh st | 500 ~ 40.00] 3.00 16.05
g 100kN/mM%#B % % 1.00{ 000 ~ 3.11 149.65|3m%#8%5|0.00 ~ 1.01| 3.45 18.47| 100kN/m%E#B% % 1.00| 1091 ~ 46.98 149.65|3m%i#B% 5| 4000 ~ 46.98| 3.45 18.47
ZFh st 1.00[ 3.11 ~ 10.90 100.00| Zh k4t | 1.01 ~ 10,90 3.00 16.05 Fh st 1.00] 500 ~ 1091 100.00| Zh st | 500 ~ 40.00] 3.00 16.05
9 100kN/mM%#B % % 1.00{ 000 ~ 3.21 151.28|3m%#8%%|0.00 ~ 1.06 3.48 18.60| 100kN/m%#B% % 1.00] 10.82 ~ 47.41 151.28|3m%#B% 5| 4000 ~ 47.41| 3.48 18.60
ZFh st 1.00/ 3.21 ~ 10.99 100.00| Zhlist | 1.06 ~ 10,99 3.00 16.05 Fh st 1.00] 500 ~ 10.82 100.00| Zh st | 5.00 ~ 40.00] 3.00 16.05
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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